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Quest (1) (a) Solve the system of linear equation & [€0-1] [4+3]

Sx=-7y+z=11
6x —8y—z=15
3x+2y—6z="7.

|89
(b) If A= [2 1 —2] is a matrix satisfying AAT wt}wé‘re I35 is the identity matrix,
a 2 b ‘

then find the values of a and b.

Quest (2) Find the equation of the line perpendicui:.r *th hne x — 7y + 5 = 0 and having x axis

intercept 3. [€CO-2] [3]
Quest (3) Find the shortest distance bet [CcO-2] [4]
and (t—j-k)+u(2i+ j+2k).
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Quest (4) Convert the complex:number TN into polar form. [cO-3] [3]
Quest (5) Expreﬁ%’chp 'f%llé‘i’ﬁj;ng expression inthe formofa + b i [C0-3] [3]

(3—-41i)
, 4-20)(1+1i)
ugft!ﬁi‘*A travel Agent surveyed 100 people to find out how many of them had visited the cities of
Melﬁayrne and Brisbane. Thirty-one people had visited Melbourne. Twenty-six people had been to
Brisbane and twelve people had visited both cities. Find the number of people who had visited
a) Melbourne or Brisbane

b} Brisbane but not Melbourne [cO-4] [5]



